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1. It’s both lightweight = compact, making it easy to bring anywhere!
(A) and (B)each (C)for (D)of
2. The insecticide has contaminated eggs in Taiwan _ similar incidents
were seen in Europe and South Korea.
(A) unless (B) while (C) after (D) before
3. We are pleased to have this opportunity to _  you for penetrating

the Tunisian market.
(A) put through (B) deal with (C) get through (D) cooperate with

4. Salaries and incomes have so that any increase to daily food

and drink prices will naturally have a direct impact on people’ s pockets.
(A) display (B) discount (C) disagree (D) stagnated
b, We our choices by the end of the week.

(A) were finalizing (B) have finalized (C) are finalizing (D) will be
finalizing

[¥ %2 j2i7]

1. ANS:Aed &g Tofidss > 220363 | » A3EM4EF 9538 Fboth > 5
B¢ i andé * 9% 3 iE(A) > both A and B% 7 TAZ&2BA Haoe

2. ANS:Co 24 PRERF ML THEWIriERFL RIS L RET 2
LY FAF TR o ZFE(C) e



3. ANS:Do ~284 ®3% cooperate withZ -+ "&£ 1%, » & 5 TP g 87

EHBEEE LTI HBE AT R AT Ho

(A5 (F4) BT T3 8 (B)AI > # £ f24(C)get through# 7 4 § %

i °7§b1?§—3§;§;o

4. ANS:Do %7 Ti@# 2% |, - 43 3 r?.‘f%??»]i)\f;g;‘%, " 4
) é?kj.i%‘?;/fg‘sﬁé ° (A) }%/—‘ : (B) ;j"ﬁ‘j’fv; (C) . PE'T‘%;E_

5. ANS: Do j‘%’?#\iiﬁ.f‘ﬁ .

(F Z it/ §i ¥ 2 )

A
Y
A

§R&- A

O ORRER o

2019/12/08



